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1. 1- The unit method for measurément of elasticity of demand L[uﬁ.:g, e gfk, g4 Job -1.1
was presented by

Alfred Marshé\u i J%L;}Jr (B) Adam Smith L 5T (A)
Keynes‘\ A D) I Robbins & 4, (C)

2 - Inlong run, the shape of cost curves i\é s b PU B L le,g e i Sbof L2
dish shaped U ( F“‘b (D) u shapé\d Vg/ ©) horizontal J"f (B) vertical $f (A)

3 - [fthere is equal decrease in demand and shpp y, then equilibrium price = dﬂiu’r J/lz oy ..,JU/ -3
decreases dtp ” (J/ (B) increases < dlg 2% (A)
remains the same < 0”, uLf (D) becomes zero < e Y (%)

4 - Indemand function, price is / .;.,/:"”ox,:" SASE -4
decreasing varia?fé o d (B) _ dependent variable it (A)
independent vari)'éble ST (D) LY continuous variable J’V (C)

5- The reward received by entrepreneur is called ’ _ < bl osbe Uty b S2T .5
profit Ct+ (D) / rent w8 (C) interest s (B) wage =zl (A)

6 - Under perfect competition, the number of firms is ‘ 2. e il Surpeil e J‘( -6
five ét (D) large / ©) three uf (B) four s (A)

7~ Under perfect competition, the cuhe of Average Revenue < b 13 Kdm (‘;»1 s bt 37 L J‘c -7

and Marginal Revenue is /‘/

concave & (D) convex —« (C) vertical (§#* (B) horizontal (& (A)

8 - According to modern economists, the law of decreasing return ¥ J‘ b J’w Y G L Pl gl s -8
is applied on ) : ~ < b uuh
induétry £ =2 (B) agriculture ‘ {=Fl (A)

serv;(lces ¢<lb4 (D) both on agriculture and industry £ Uy o5 ol mtly; (C)
9 - The measurement of elast:czt)j/ between two distinct points u (/E; s L e L1 & 4 _A&b -9
on the demand curve is call

point elasticity .,g uw . (B) arc elasticity .‘g g ; (A)
- cross elasticity ..g (‘f’ &> (D) income elasticity ._,g (Ll’ (C)
10 - When total utility declines then marginal utility becomes & ot oslil f;(;?% &Sl S <2 -10
zero 4 (D) maximum el a3l (C) negative (B) positive =4 (A)
11 - According to Alfred Marshall, economics is P Jbr L J%LS/’I -11
ehtical knowledge ,)‘ dut (B) natural science H‘ & (A)
social science H‘ B/b» (D) scientific knowledge f“ UJL« (C)
(&1dm
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To satisfy economic wants there is & need of o U/ 2L uﬁa $ el s

desire 17 (D) demand ¥ (©) money i (B) will ssbl (A)

The cause of shifting of supply curve is <~ 2 J LF; J s, b5

change in other factors J“ KU J 14 /-(} (B) change in price &‘ WU =t (A

change in demand J:;}'uf ) change in income J:,«;uﬁ 347 (©)

The fertility of land is o dn i 4 o5

low <z (D) high % (C) different ¥ (B) same G-k (A

According to whom economics is a normative science? e :/.LqJIH‘ .»,L/“tr ,{ L J{

Adam Smith 5’(;7 (D) Robbins # (C) Marshall J%L (B) Keynes / (A)

The aggregate of firms which are producing identical goods < lef;( _pyf Ku,v‘/' Jis L/ Iac A}' u’f uﬁ
is called :

monopoly  Usbeslel (D) industry = (C) unity &1 (B) group u// (A)

In third stage of the law of variable proportions, marginal Sslgg "(“‘?‘J b pe fL B V-atri]

productivity is <« C}n

negative d’ (D) infinite” 5140 (C) zero # (B) positive =5 (A

Under monopoly, the firm is in equilibrium where Uz « bt g 43 Sy ¥ (} s L Sl

Marginal Revenue > Marginal cost e ‘”f"‘{ < s ‘;”-\f ")
Marginal'Bevenue = Marginal cost e 7E =4 (@)
Marginal Revenue < Marginal cost i/\* .(:; > 4y “(v ©
Total Revenue = Marginal Revenue Jdro “(:3= ) f (D)

Utility derived from the first unit of commodity is called £ l:lkr a1 Uy Sx J’ - GKI d}f J 2
total utility 261 F (B) nitial utility 2261 dLEd (A)
negative utility 6 ¢ (D) positive utility »6 = (C)
If there is equal increase in demand and supply, i 313 B 3\el 2l Ui a9l in

then equiliorium quantity
remains the same < &Y ub,f (B) increases < J\g % (A)

pecomes infinite +&n),/u (D) decreases ‘L-Jlg}’i{ C)
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Section I is compulsory. Attempt any THREE (3)

questions from Section II.
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2 - Write short answers to any EIGHT (8) questions. (2x8=16) -2.{,_/ f :4'!./‘.? L=y (8) #T = Jf -2

is
ii-
iii -

iv -

viii -
ix -
X -
X1 -

Xii -

What is meant by non-economic wants.

Write down definition of economics presented by Adam Smith.
Differentiate between consumer goods and capital goods.
Write down any two demerits pf Robbin's definition.

What is meént by consumer?

What is meant by "Point of Satiety"?

Define marginal rate of substitution.

Differentiate between independent and/dependent variable.
Write down the formula of point elasticity.

What is meant by complementary demand?

What is meant by extension of demand?

Write down definition of Elasticity of demand.
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3 - Write short answers to any EIGHT (8) questions. (2x8=16) -;é,,//’ ICY 4 FL =y (8) #T = Jf -3

i-

i -
i -
iv -
V-
Vi -
vii -
viii -

ix -

4 - Write short answers to any NINE (9) questions.

Define elasticity of supply.

What is meant by market period?
What is meant by capital formation?
Draw a diagram when supply is constant but demand falls.
Draw a diagram of market equlibrium.
What is meant by short run?

What is meant by labour?

What is meant by money market?
What is meant by sleeping partner?
Describe law of decreasing returns.
Define capital.

What is meant by external economies of scale?

Write down the definition of cost of production.
What is meant by average variable cost.

Write down the formula of average fixed cost.
State any two assumptions of perfect competition.
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Note:

5~
6 -

8-
9 -

. -2-
Croj=11-23 )
Draw average revenue and marginal revenue curves under G5B L $v 7900 S sl 5 L G J"r
perfect competition ek rl/:c'ﬁ
Define monopoly. & S el
What is meant by super normal profit. Se sl l/ & (’3(‘/ DI P1)
Write down any two factors which determine the size of market. L& SEssdts &S ut’; Sor § $2
What is meant by price mechanism? ‘.‘+ oAy L[c, OV Juiﬂ;
State the meaning of product homogenity. -g{{frxﬁ’ Keslf J&
Write down the definition of differential rent. S8
Differentiate between net interest and gross interest. L YL G St P

What is the difference between net'profit and gross profit? e 3/ l[ui' CEP/ .,:f//:l (‘3L>' u"l}
Section - II (2 >

Attempt any THREE (3) questions.

Describe the important characteristics of economicdaws. _(10) _é Y wle r"‘ (7 I J u.f 19 J e
How elasticity of demand is measured? (10) ?;‘_ J@ J4Jjg Jug J_,Jb
Write down the advantages and disadvantages of (10) ‘é’f el sl e 6 L u"jtgg ~k L)‘;’
small scale production.

Differentiate between perfect and imperfect market. (10) _sz (‘: Iy O S Sl J“'/L 2l J‘(
How Malthusian theory of population is applicable in (10) Setn .ﬁ':(JUH £ d‘“’@» Kd);l';};[_ J‘#L
Pakistan? Discuss. A 4
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